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QUESTION 1

Which sequence best represents the Procure to Pay life cycle flow? 

A. Run compliance testing. > Enter suppliers. > Process returns. 

B. Create purchase order. > Record manual payment. > File invoices. 

C. Negotiate contracts. > Fulfill purchase order. > Generate supplier reports. 

D. Enter invoice. > Match invoice to purchase order. > Return goods to suppliers. 

E. Request for quote. > Analyze commodity. > Create payment outside payables. 

Correct Answer: C 

 

QUESTION 2

While implementing Oracle Payables, Oracle Purchasing, and Oracle General Ledger at GLO Ltd., you are informed by
the accountant that the AP Clearing Account balance is increasing daily. To solve this issue, what would you check in
the accounting process? 

A. whether journals are posted regularly 

B. whether suppliers are sequentially numbered 

C. whether the month-end accrual process is run 

D. whether invoices are matched to purchase orders and receipts 

E. whether Oracle Payables transactions are reconciled with Oracle General Ledger 

Correct Answer: D 

 

QUESTION 3

Which three are valid setup options for purchasing document types? (Choose three.) 

A. Archive On 

B. Forward Method 

C. Default Hierarchy 

D. Security Access Level 

E. Can Change Hierarchy 

F. Owner Cannot Approve 

Correct Answer: ABC 
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QUESTION 4

For performing an ABC analysis, you need to define ABC Compile, ABC Classes, and ABC Assignment Groups. Identify
two correct actions. (Choose two.) 

A. Link an ABC Group to an ABC Compile. 

B. Link an ABC Compile to an ABC Group. 

C. Assign an ABC Group to an ABC Class. 

D. Assign an ABC Class to an ABC Group. 

E. Enable an ABC Group in Subinventories. 

Correct Answer: BD 

 

QUESTION 5

Your client has an item that is used globally. The site in Colorado is evaluating a local source for the item. The buyer
requires the incoming goods from the local source to be separated from the goods received from nonlocal sources.
Which three actions should be performed to meet this requirement? (Choose three.) 

A. Enter the item in the subinventory form. 

B. Modify master item attributes to default a subinventory. 

C. Change the PO Line receipt routing to Inspection Required. 

D. Modify organization item attributes to default a subinventory. 

E. Create a separate subinventory to stock goods from the local source. 

F. Create item transaction default for the item in the Item Master Organization. 

G. Insert a separate subinventory on the purchase order and attach Receiver Notes. 

H. Ensure that you do not create an item transaction default for the item in the Inventory Organization. 

Correct Answer: EGH 

 

QUESTION 6

Identify the purpose of using Material Status controls. 

A. to permit updates to the Item Master record 

B. to prevent unnecessary cycle counting in an inventory organization 

C. to define the transactions that are permitted for an inventory organization 
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D. to select the transactions that are permitted to use the inventory on-hand quantity 

Correct Answer: D 

 

QUESTION 7

Identify two features of an "Independent" value set. (Choose two.) 

A. There Is a predefined list of values for a segment. 

B. The values are stored In a product applications table. 

C. The values are stored in an Oracle Application Object Library table. 

D. You can enter a value other than those in the predefined fist of values. 

Correct Answer: AC 

 

QUESTION 8

Which are the four benefits of employing sound naming conventions while defining suppliers? (Choose four.) 

A. accurate supplier reporting 

B. prevention of incorrect returns 

C. improved system performance 

D. prevention of duplicate receipts 

E. prevention of duplicate invoices 

F. prevention of duplicate payments 

G. prevention of incorrect receipt inspections 

Correct Answer: ACEF 

 

QUESTION 9

For which three transaction types can picking rules be created? (Choose three.) 

A. PO Receipt 

B. Sales Order 

C. Cycle Count 

D. Work-in-process jobs 

E. Miscellaneous Receipt 
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F. Move Order Replenishment 

G. Physical Inventory Adjustment 

Correct Answer: BDF 

 

QUESTION 10

A parts distributor has a facility that includes several buildings that are used as warehouses. All the warehouses
together represent one subinventory in an inventory organization. Each building is multistoried, and each floor (story)
has several rooms within each building that are unique to that building. All rooms are used to store material, and the
distributor needs the ability to store material and pick material from these rooms. What is the optimum number of
segments that you would recommend for the Stock Locator flexfield? 

A. 1 

B. 2 

C. 3 

D. 4 

E. 5 

Correct Answer: C 

 

QUESTION 11

Which three statements are true about ABC analysis? (Choose three.) 

A. The ABC class is an item attribute. 

B. There can be only three classes-A, B, and C. 

C. An ABC class must be assigned to at least one ABC group. 

D. ABC classes can be used to group items for planning purposes. 

E. ABC classes can be used to identify the value groupings to which your items belong. 

Correct Answer: CDE 

 

QUESTION 12

A multinational company is setting up the sourcing rules and approved supplier list (ASL) to source 

inventory items across different organizations. 

Which two statements are true? (Choose two.) 

A. You do not need to create a local ASL if you create a Global ASL 
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B. Inventory organizations used in the sourcing rules must be set up in the Shipping Networks. 

C. You need to match the supplier between a sourcing rule and an ASL, but not the supplier site. 

D. The country of origin must be entered in the ASL, or it would not be available on the purchasing document. 

E. A commodity can be assigned to a supplier at both the global level and at the local level, and the local level
assignment takes precedence. 

Correct Answer: BE 

 

QUESTION 13

Which key area in the Procure to Pay process involves using Oracle iExpenses to enter expense reports via a Web
browser? 

A. Payment 

B. Invoicing 

C. Sourcing 

D. Reporting 

E. Receiving 

Correct Answer: D 

 

QUESTION 14

The Available to Promise (ATP) algorithm uses three time fences. 

They are Past Due Supply, Past Due Demand, and _____. 

A. Finite Supply Time 

B. Infinite Supply Time 

C. Planning Horizon Time 

D. User-Defined Lead Time 

E. Accumulative Lead Time 

Correct Answer: B 

 

QUESTION 15

How many distinct ABC Compile Names can exist at a given time in an inventory organization? 

A. an unlimited number of names 
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B. only one for each subinventory 

C. only one per inventory organization 

D. one for each subinventory and one for each inventory organization 

Correct Answer: A 
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